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Shivaji University, Kolhapur
P.G. Entrance Examination, May-2023
M.Sc. Agro Chemicals And Pest Management
Subject Code : 58726

Day and Date : Tuesday, 08-08-2023 Total Marks : 100
Time : 10.30 am To 12.00 noon

Instructions : 1) All questions are compulsory.
2) Each question carries 1 mark.
3) Answers should be marked in the given OMR answer sheet by darkening
the appropriate option.
4) Follow the instructions given on OMR sheet.
5) Rough work shall be done on the sheet provided at the end of question

paper.
1.  Western blot is the technique for ................... blot.
A. DNA B. RNA
C. Lipid D. Protein
2. e is considered as connecting link between Reptiles and Aves
A. Archaeopteryx B. Limulus
C. Peripatus D. Sphenodon
3. Venom of Cobra attacks on ................... system.
A. Respiratory B. Blood vascular
C. Nervous D. Lymphatic

4.  The number of chromosomes in human body is
A. 42 C. 46
B. 44 D. 45

5. The infective stage of Entamoeba histolytica is...................
A. Trophic form B. Mature cyst
C. Sporozoite D. Minuta form.
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The cytoplasmic surface of which ER region lack ribosomes ....................
A. Smooth SER B. Rough SER
C. Both D.None
Functions of microtubules include ....................

A. Support the cell B. Act as track in the cell
C. Keep the shape of the cell D. All of the above

AIDS virus has ......ccoeeee...

10.

1.

12.

13.

A. Single-stranded RNA

C. Double stranded RNA

B. Single-stranded DNA

D. Double stranded DNA

Ammonia is the chief excretory product in ....................

A. Reptiles

C. Fish

B. Mammals

D. Insects

Acrosomal vesicle in mature sperm is derived from :

A. Endoplasmic reticulum

B. Golgi complex

C. Nucleus D. Lysosome
Body is metamorically segmented in ....................

A. Porifera B. Annelida
C. Colentrata D. None of these
Silverfish belongs to phylum
A. Arthropoda B. Mollusca
C. Pisces D. Chordata

Cloning vectors are DNA molecules that can carry ...............

A. Probes

C. Chromosome

B. foreign proteins

D. Foreign DNA fragment



15.

16.

17.

18.

19.

20

21.

. Pheromone is secreted by

............... bird is threatened in India.
A. Jungle fowl

C. Indian bustard

The jassid is walking ............... manner.

A. Looping
C. Diagonally

B. Crow

D. Parrots

B. Hopping

D. None above

Which of the following is main characteristic feature of insects?

A. A pair of antennae

C. Three pairs of legs

The poison of honey bee/ ant is ..........

A. Acidic

C. Salty

The exotic parasitoid is ..............
A. A. dactylopi

C. A. kamali

Fumigation method is used against-
A. Lepidopteron pests

C. Stored grain pests

A. Male
C.bothaandb

Trighogramma chilonis is a ................

A. Egg parasitoid
B. Pupal parasitoid
C. Larval parasitoid

D. All the above
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....................

B. Pairs of wings

D. all of the above

.......... in nature.

B. Alkaline

D. Inert

B. C. chlorideae

D. E. argenteopilosus

B. Dipteran pests

D. Medical pests

moth in lepidopteron insects.

B. Female

D. none of the above



22.

23.

24.

25.

26.

217.

28.

29.

Energy supplied to metabolic processes of the cell is supplied by ............ molecules.
A. AMP B. ATP

C. Sugar D. Protein

The enzyme catalase is found in ....................

A. Peroxisomes B. Mitochondria

C. Glyoxysomes D. Lysosomes

.................... isresponsible for energy conservationsreactions of aerobic respiration.
A. Mitochondria B. Chloroplast

C. Golgi bodies D. ER

Which of the following constituent of bones and teeth?

A. Sulphur B. Calcium

C. Phosphorus D. Carbohydrates

In cutting method of vegetative propagation, cuttings are mainly taken from
A. Leaves of parent plant

B. Shoots of parent plant

C. Roots or stems of parent plant

D. Buds of parent plant

Which one of the following is natural insecticide?

A. Pyrethrum B. Nicotine

C. both (a) and (b) D. None of these

Seed treatment with Vitavex is the main controlling method of

A. Loose smut B. Rust

C. Downy mildew D. All of these

Water blooms are formed by ....................

A. Lemna B. Hydrilla

C. Water hyacinth D. Planktonic algae
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30.

31.

32.

33.

34.

35.

36.

37.

Which one is green manure?

A. Sesbania B. Rice

C. Oat D. Maize
Which one is the major component of Bordeaux mixture?
A. Copper sulphate

B. Calcium chloride

C. Sodium chloride

D. Magnesium sulphate

Eichhornia crassips is a representative of ....................

A. Free floating B. Rooted submerged
C. Rooted floating D. Emergent
The partial root parasite....................

A. Cuscuta B. Loranthus

C. Striga D. Orobanche
Selective post-emergence herbicide ....................
A.2,4-D B. Glyphosate
C. Paraquat D. All

A non-selective contact herbicide..

A. Glyphosate B. Paraquat
C.2,4-D D. None

ATP molecule contains high energy .................... bonds.
A. Nitrogen B. Carbon

C. Phosphate D. Nucleotide

To know overall energy transformations knowledge of .................

A. Biophysics B. Biochemistry

C. Thermodynamics D. None of the above
- (5) -
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38. The upward movement of water and salts from root to aerial parts is called

....................

A. Ascent of sap B. Formation of sap
C. Lifting of sap D. Cohesion of sap

39. Stomata are a natural ....................

A. Cell B. Pore

C. Guard cell D. Subsidiary cell
40. Wheat is mainly .................... season Ccrop.

A. Summer B. Rainy

C. Rubby D. Hot

41. Cork cambium is an example of ....................
A. Lateral meristem
B. Intercalary meristem
C. Apical meristem

D. Apical and intercalary meristem

42, e, living tissue gives mechanical strength.
A. Sclerenchyma B. Xylem
C. Vessels D. Collenchyma

43. The ability of a pathogen to cause disease is ....................
A. Pathogensis
C. Pathogenicity
B. pathovar
D. Parasexualism
44. First living cells were observed by ....................
A. Crick B. Leeuwenhoek

C. Okazaki D. Beadle
- (6) -



45.

46.

47.

48.

49.

50.

51.

52.

Karyokinesis means ....................
A. division of nucleus B. division of cell

C. division of cytoplasm D. division of class
‘Law of purity of gametes’ is also known as ....................

A. Law of dominance B. Law of segregation
C. Law of transformation

D. Law of independent assortment

The phenomenon of osmosis is opposite to that of .....................

A. Diffusion
C. Affusion

B. Effusion

D. Coagulation

The most active site of protein synthesis is the ....................

A. Nucleus

C. Mitochondrion

F1 particles are also called as .................

A. Oxysomes

C. Peroxisomes

Soap 1S.....eeeeeeevvennnne molecule
A. Hydrophilic

C. Amphipathic

A biocatalyst is....................
A. Protein.

C. Carbohydrate

In paper chromatography paper acts as ...

A. Solid
B. Liquid
C. Stationary

D. Support
- (7) -

B. Ribosome

D. Cell sap

oo

B. Dictyosomes

D. None of the above

B. Basic hydrophobic

D. None of these

B. Lipid
D. None of these



53.

54.

55.

56.

57.

58.

59.

60.

According to Beer-Lamberts Law, the absorbance (A) ofthe solutioniis.............

A. Directly proportional to wavelength

B. Indirectly proportional to concentration of solution

C. Directly proportional to concentration of solution

D. Directly proportional to transmitted light

Aldol condensation is carried out in presence of ....................

A. Mild or dilute alkali

B. Concentrated alkali

C. Dilute acid

D. AICI,

Fermentation is called anaerobic process because it occurs in ....................

A. Presence of CO,

C. Absences of CO,

Pharmaceuticals are ............

A. Organic pollutants

C. Biological pollutants
Universal solvent is ............
A. Water

C. Liquid SO,

........

B. Presence of O2

D. Absences of O,

B. Thermal pollutants

D. Sediments

B. Liquid NH,

D. Acidic acid

Water molecule has distorted tetrahedral structure because it has....................

A. One lone pair

C. Two lone pairs

B. Three lone pairs

D. No lone pairs

According to Arrhenius, acid is the substance which in aqueous medium gives

A.H" B. OH

Rate determining step is the
A. Fast

C. Very fast

.....................
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C.Cr D. O~
step in the mechanism.
B. Slow

D. Moderately fast

.......



61.

62.

63.

64.

65.

66.

67.

68.

Cyclo-octane is ....................
A. Aromatic

C. Non-aromatic

. Anti-aromatic

. Pseudoaromatic

Chemical name of washing soda is ....................

A. Sodium carbonates

B. Sodium hydrogen carbonates
What is S. 1. unit of Surface tension?
A. Dyne/meter

C. Newton-meter

Benzene is.........ccou..... solvent.

A. Ionizing

C. protonic

Pure metallic solids are ....................
A. super conductors

C. semiconductors

D

D

. Sodium chloride

. Sodium hydroxide

. Newton/meter

. Dyne-meter

. Polar

. Aprotic, non-polar and non-solvating

. good conductors

. insulators

Bonding in metals is best explained by ....................

A. valence bond theory

C. crystal field theory

D

. ligand field theory

. molecular orbital theory

In which region of the electromagnetic spectrum does absorption at 600 nm come?

A. Visible
C. Vacuum-UV

B
D

. Near-UV

. Infrared

In Gas Chromatography gas acts as ....................

A. Stationary Phase
B. Mobile phase
C. Solvent

D. Solute
- (9) -



69.

70.

71.

72.

73.

74.

75.

76.

MIC is required for the synthesis of ....................

A.TAA B. Carbaryl

C. Monocrotophos D. Endosulfan

Calcium sulphate act as a ................... in chromatographic separation.
A. Catalyst B. Binder

C. Mobile phase D. Stationary phase

The distance between the centers of the peaks of doublet is called as?
A. Coupling constant B. Spin-spin coupling

C. Spin constant D. Chemical shift

............. is an antibiotic

A. Ibuprofen B. Quinine

C. Penicillin-G D. Isoniazid

Which of the following liquids forms completely soluble mixture?
A. phenol and water B. Benzene and water

C. Ethanol and water D. All of the above

The color change property of an acid base indicator depends on .............

A. pH of the solution B. structural rearrangement

C. ionization of indicator D. all of the above

In flame photometry the measurement of ............. is used for quantitative analysis.
A. wavelength B. Intensity

C. Velocity D. Frequency

Which of the following reagent converts an acid into alcohol Lindlar,s catalyst is

.............

A. LiAlH4
B. Pd/BaSO,
C. ZnCl2

D. Aluminium isopropoxide in isopropanol

- (10) -



77.

78.

79.

80.

81.

82.

83.

The pH of freshly extracted cane sugar juice is ....................

A.42t04.7 B.7.5t0 8.0

C.65t07.0 D. None of these

Silicon is doped with trivalent impurity; then the resultant substance is....................
A. Superconductor B. p-type semiconductor

C. n-type semiconductor D. insulator

The wavenumber of a transition is 2000 cm-1. In what part of the electromagnetic
spectrum does this come?

A. Radiowave B. Microwave

C. Infrared D. Ultraviolet-visible
Dimethyl glyoxime is specific reagent for ....................

A. Al B. Fe C. Mg D. Ni
Endosulfanisa ....................

A. Insecticide B. Plant growth regulator
C. Herbicide D. Bactericide

The correct sequence of energy levels of a molecule in their increasing order is

....................

A. Electronic > Rotational > vibrational

B. Rotational > electronic > vibrational

C. Vibrational > electronic > rotational

D. Electronic > vibrational > rotational

During photosynthesis .................... acts as photosensitizer.
A. Chlorophyll

B. water

C. carbon dioxide.

D. glucose
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84.

85.

86

87.

88

89.

90.

91.

Alpha particles emitted in radioactive disintegration are ....................
A. hydrogen atoms B. helium atoms
C. helium nuclei D. hydrogen nuclei

The crystalline structure of NaCl is ....................

A. Hexagonal close packing B. Face centered cubic
C. Square planar D. Body centrered cubic
Soft-soft interaction produces ..................... compounds.

A. Covalent B. Ionic

C. Non-metallic D. Metallic

pH of the fertile soil must in between ....................
A.1t03 B.3to5 C.11to 13 D.7t08

.................... of nitrogen (N) is present in Urea B. 70

A. 80 B.70 C. 46 D.0.3

In potentiometric analysis Calomel electrode is used as .................... electrode.
A. Indicator B. Reference

C. Supporting D. Inert

What is significance of addition of lime to sugarcane juice?
A. Rapid crystallization of sugar

B. Avoid loss of sucrose

C. To precipitate acids and phosphates

D. Bothband ¢

According to HSAB concept Na+ is .................... acid.

A. Hard

B. Soft

C. Borderline

D. Weak
- (12) -



92.

93.

94.

95.

96.

97.

98.

Stereoisomers have same structure but different relative arrangementof....................

A. Ions B. Cations

C. Anions D. Atoms of ligands
Optically active complex must be ....................

A. Asymmetric

B. Their mirror images are not super impossible on each other
C. Chiral

D. All of these

Electrical conductivity of metal ..................... with rise in temperature.

A. decreases B. increases

C. remains same D. first decreases then increases
Temperature at which substance becomes superconductor is called ....................

temperature.

A. Critical B. super
C. lower D. higher
Chromatography is ........c...........

A. Physical method of separation
B. Chemical method of separation
C. Analytical method of separation

D. Bothaand C

In Kjeldhal’s method nitrogen is liberated in the reduced form of. ...................

A.NO, B. HNO,

C. (NH,),SO, D. HNO,
Substance with zero resistance is known as

A. conductor B. superconductor

C. semiconductor D. insulator
_ (13) _



99. LactoseiSa ..ccoveeveeeennnnn.
A. Monoscccaride

C. Poly saccharide

100. Carbaryl is a........ type of pesticide,

A. Organophosphorus

C. Organochlorine

L 2 2 4
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B. Disaccharide

D. None of these

B. Carbamate

D. Pyrethroid



